

**stichting
mathematisch
centrum**



AFDELING MATHEMATISCHE STATISTIEK
(DEPARTMENT OF MATHEMATICAL STATISTICS)

SW 67/80

FEBRUARI

P.J.M. KALLENBERG

BRANCHING PROCESSES WITH CONTINUOUS
STATE SPACE ALLOWING IMMIGRATION

Preprint

2e boerhaavestraat 49 amsterdam

Printed at the Mathematical Centre, 49, 2e Boerhaavestraat, Amsterdam.

The Mathematical Centre, founded the 11-th of February 1946, is a non-profit institution aiming at the promotion of pure mathematics and its applications. It is sponsored by the Netherlands Government through the Netherlands Organization for the Advancement of Pure Research (Z.W.O).

1980 Mathematics subject classification: 60J80, 60E07, 60J30

Branching processes with continuous state space allowing
immigration *)

by

P.J.M. Kallenberg

ABSTRACT

In addition to some recent papers on Galton-Watson processes allowing immigration we study asymptotic properties of branching processes with continuous state space allowing immigration. In particular we derive results for the class of processes which do not occur if we consider only processes for which the state space is integer-valued. The methods we use are however very similar to the ones used to obtain results for Galton-Watson processes.

KEY WORDS & PHRASES: *Galton-Watson process; branching process with continuous state space; immigration; subordinator; slow variation; regular variation*

*) This report will be submitted for publication elsewhere.

1. INTRODUCTION

In several recent papers ([1],[6],[7],[8]), the asymptotic behaviour of Galton-Watson processes allowing immigration has been studied. Such processes describe the number of individuals of a population, behaving like a Galton-Watson process, in which moreover a random number of immigrants enter the n th generation. These immigrants then act as the other individuals of the population. More formally, we can say, let $\{X_{ij}; i = 1, 2, \dots; j = 1, 2, \dots\}$ be a sequence of independent random variables, all distributed according to the so-called offspring distribution $\{p_j; j = 0, 1, 2, \dots\}$, and let $\{Y_1, Y_2, Y_3, \dots\}$ be a sequence of i.i.d. integer valued random variables, then the Galton-Watson process allowing immigration is defined as

$$(1.1) \quad X_0 = 0; \quad X_{n+1} = \sum_{j=1}^{X_n} X_{n+1,j} + Y_{n+1}, \quad n = 0, 1, 2, \dots$$

In this paper we study the analog of these processes for branching processes with continuous state space (see e.g. [5]). We use the following definition:

DEFINITION 1.1. Let $\{W_n(t); t \in [0, \infty)\}; n = 0, 1, 2, \dots\}$ be a sequence of i.i.d. subordinators, and $\{Y_1, Y_2, Y_3, \dots\}$ a sequence of i.i.d. random variables, also independent of the subordinators and such that $P(Y_1=0) < 1 = P(Y_1 \geq 0)$. Let $\{X_n; n = 0, 1, 2, \dots\}$ be defined by

$$(1.2) \quad X_0 = 0; \quad X_{n+1} = W_n(X_n) + Y_{n+1}, \quad n = 0, 1, 2, \dots$$

Then the process $\{X_n; n = 0, 1, 2, \dots\}$ is called a branching process with continuous state space allowing immigration.

Writing $h^*(s)$ for the cumulant generating function (c.g.f.) of the offspring distribution of the process without immigration, that is $h^*(s) = -\log E \exp(-sW_n(1))$, $f(s)$ for the c.g.f. of Y_1 and $h_n(s)$ for the c.g.f. of X_n , it follows immediately from Definition 1.1 that

$$(1.3) \quad h_0(s) = 0; \quad h_{n+1}(s) = h_n(h^*(s)) + f(s), \quad n = 0, 1, 2, \dots$$

Denoting by $h_j^*(s)$ the j -th iterate of the function $h^*(s)$, or equivalently, the c.g.f. of the size of the j -th generation of the process without immigration starting with one particle, (1.3) can also be expressed in the more convenient form

$$(1.4) \quad h_0(s) = 0; \quad h_{n+1}(s) = \sum_{j=0}^n f(h_j^*(s)), \quad n = 0, 1, 2, \dots$$

In several papers ([5],[10],[11]) it has been shown that there is a great correspondence between Galton-Watson processes and branching processes with continuous state space, both if the expectation of the offspring distribution, denoted by m , exceeds 1 and if $m \leq 1$ and the offspring distribution has an atom at 0. This same correspondence can be proved to exist if we consider processes with immigration. We shall not go into details but only refer to [1] and [8]. In this paper we restrict attention to the remaining cases, that is $m \leq 1$ and the offspring distribution has no atom at 0. Notice that such processes can not occur if we consider Galton-Watson processes. The methods we shall use are however very similar to the ones used to obtain results for Galton-Watson processes allowing immigration, as described in [8]. They are in fact based on knowledge of the process without immigration, that is of the c.g.f. $h_j^*(s)$, which is used with the help of (1.4) to obtain results for $h_n(s)$.

2. THE SUBCRITICAL CASE

In this section we suppose that $m < 1$. It follows immediately from (1.4) that

$$\lim_{n \rightarrow \infty} h_n(s) = \sum_{j=0}^{\infty} f(h_j^*(s))$$

exists, and that this limit is the c.g.f. of a possibly defective distribution. In fact integral comparison yields

$$(2.1) \quad \sum_{j=0}^{\infty} f(h_j^*(s)) < \infty \quad \text{for any } s \in (0, \infty) \quad \text{iff} \quad \int_0^{\infty} f(e^{-x}) dx < \infty,$$

since $m < 1$ implies that there exist $\delta_1, \delta_2 \in (0, 1)$ such that $\delta_1^j \leq h_j^*(s) \leq \delta_2^j$ for sufficiently large j (see Chapter IV of [5]). Furthermore, just as in the discrete case ([2],[4]) we have the following Lemma (see also Theorem 3 in [10]).

LEMMA 2.1. *Equivalent with (2.1) is $E(\log Y_1)^+ < \infty$.*

PROOF. Using the representation

$$\frac{1 - \exp(-f(s))}{s} = \int_0^{\infty} e^{-sx} \{1 - F(x)\} dx,$$

where F is the distribution function of Y_1 , it follows that (2.1) holds iff for any $\varepsilon > 0$

$$\int_0^{\varepsilon} \frac{1 - \exp(-f(s))}{s} ds < \infty,$$

that is iff for any $0 < \varepsilon < \infty$

$$(2.2) \quad \int_{\varepsilon}^{\infty} \frac{1 - \exp(-x)}{x} \{1 - F(x)\} dx < \infty$$

by Fubini's theorem. Now (2.2) is equivalent with

$$\begin{aligned} \int_{\varepsilon}^{\infty} \frac{1 - F(x)}{x} dx &= \int_{\varepsilon}^{\infty} \left\{ \int_{x^-}^{\infty} dF(y) \right\} d \log x \\ &= \int_{\varepsilon^-}^{\infty} \left\{ \int_{\varepsilon}^y d \log x \right\} dF(y) < \infty \quad \text{for any } 0 < \varepsilon < \infty, \end{aligned}$$

that is with $E(\log Y_1)^+ < \infty$. \square

As a consequence of this Lemma we have that X_n converges weakly to a proper distribution iff $E(\log Y_1)^+ < \infty$. Otherwise $X_n \xrightarrow{P} \infty$. We shall now examine this latter case in more detail. Writing $G(x) = f(e^{-x})$, and assuming that $E(\log Y_1)^+ = \infty$, that is that $\int_0^{\infty} G(x) dx = \infty$, we consider two special types of behaviour of $G(x)$.

LEMMA 2.2. Suppose there exist a constant $b \in (0, m]$ and a positive increasing function B such that $B(0+) = 0$ and

$$(2.3) \quad h^*(s) = B(bB^{-1}(s)),$$

and that $B(s)$ has a monotone derivative and is regularly varying with exponent $\delta \in (0, \infty)$ for $s \downarrow 0$, and that furthermore

$$(2.4) \quad \lim_{x \rightarrow \infty} xG(x) = 0.$$

Then $\Lambda(x_n)/\Lambda(b^{-n})$ converges weakly to a random variable with distribution function $A(x) = \min(1, x^\zeta)$; here

$$(2.5) \quad \Lambda(x) = \begin{cases} \exp\{\int_1^x G(y)dy\} & \text{if } x \geq 1 \\ x & \text{if } x < 1 \end{cases}$$

and $\zeta = -1/\log m$.

PROOF. Since B is regularly varying with exponent δ , (2.3) implies that $mB(s) \sim h^*(B(s)) = B(bs) \sim b^\delta B(s)$, $s \downarrow 0$, and hence $\delta = (\log m)/(\log b)$. It follows also from (2.3) that $h_n^*(s) = B(b^n B^{-1}(s))$, $n = 0, 1, 2, \dots$. Defining for all $t \in (0, \infty)$

$$h_t^*(s) = B(b^t B^{-1}(s)),$$

integral comparison and (1.4) yield

$$(2.6) \quad h_{n+1}^*(s) - h_1^*(s) = \sum_{j=1}^n f(h_j^*(s)) \leq \int_0^n f(h_t^*(s)) dt \leq \sum_{j=0}^{n-1} f(h_j^*(s)) = h_n^*(s).$$

Substituting $t = \frac{\log\{B^{-1}(e^{-x})/B^{-1}(s)\}}{\log b}$, and using the fact that the regular

variation of $B(s)$ and the monotonicity of its derivative imply that

$$\lim_{s \downarrow 0} \frac{s[B^{-1}(s)]'}{B^{-1}(s)} = 1/\delta = \frac{\log b}{\log m},$$

([9], property 1.5.5 and theorem 2.4), it follows from (2.6) that for any sequence $s_n \downarrow 0$,

$$(2.7) \quad \exp\{-h_n(s_n)\} \sim \exp\{-(1/\log m) \int_{-\log s_n}^{-\log h_n^*(s_n)} G(x) dx\}.$$

Now let

$$(2.8) \quad s_n(x) = 1/\Lambda^{-1}(x\Lambda(b^{-n})), \quad x \in (0, \infty), \quad n = 1, 2, 3, \dots,$$

then $\lim_{n \rightarrow \infty} s_n(x) = 0$ for all x , since $\int_0^\infty G(x) dx = \infty$. Furthermore

$$(2.9) \quad \int_{-\log s_n(x)}^{-\log h_n^*(s_n(x))} G(y) dy = \log \Lambda(1/h_n^*(s_n(x))) - \log \Lambda(1/s_n(x))$$

$$= \log \Lambda(1/h_n^*(s_n(x))) - \log(x\Lambda(b^{-n}))$$

$$= -\log x + \int_{-n \log b}^{-\log h_n^*(s_n(x))} G(y) dy$$

$$= -\log x + I_n,$$

say. Now

$$(2.10) \quad |I_n| \leq \left| \int_{-n \log m}^{-n \log b} G(y) dy \right| + \left| \int_{-n \log m}^{-\log h_n^*(s_n(x))} G(y) dy \right|.$$

Since $b \leq m < 1$, and G is decreasing, it follows that

$$(2.11) \quad \left| \int_{-n \log m}^{-n \log b} G(y) dy \right| \leq -G(-n \log m) \cdot n \log(b/m)$$

$$= G(-n \log m) \cdot (-n \log m) \cdot \frac{\log(b/m)}{\log m} \rightarrow 0 \quad \text{as } n \rightarrow \infty \text{ by (2.4).}$$

Because $s_n(x) \rightarrow 0$ as $n \rightarrow \infty$, and $h_n^*(s) \leq m^n s$, it follows that

$h_n^*(s_n(x)) \leq m^n$ for sufficiently large n , and therefore

$$(2.12) \quad \left| \int_{-n \log m}^{-\log h_n^*(s_n(x))} G(y) dy \right| \leq -G(-n \log m) \cdot \log \frac{h_n^*(s_n(x))}{m^n}$$

$$= G(-n \log m) \cdot (-n \log m) \left[\frac{-\log h_n^*(s_n(x))}{-n \log m} - 1 \right]$$

for sufficiently large n . The regular variation of B and B^{-1} imply that $\log B(s) \sim \delta \log s$ and $\log B^{-1}(s) \sim (1/\delta) \log s$ for $s \downarrow 0$, and so

$$1 \leq \limsup_{n \rightarrow \infty} \frac{-\log h_n^*(s_n(x))}{-n \log m} = \limsup_{n \rightarrow \infty} \frac{-\log B(b^n B^{-1}(s_n(x)))}{-n \log m}$$

$$= \limsup_{n \rightarrow \infty} \frac{-\delta \log b^n - \delta \log B^{-1}(s_n(x))}{-n \log m}$$

$$= \frac{\delta \log b}{\log m} + \limsup_{n \rightarrow \infty} \frac{-\log s_n(x)}{-n \log m}.$$

Now for any $x \in (0,1)$ it holds that

$$-\log s_n(x) = \log \Lambda^{-1}(x \Lambda(b^{-n})) \leq \log \Lambda^{-1}(\Lambda(b^{-n})) = -n \log b,$$

and so for any $x \in (0,1)$

$$1 \leq \limsup_{n \rightarrow \infty} \frac{-\log h_n^*(s_n(x))}{-n \log m} \leq (\delta+1) \frac{\log b}{\log m} < \infty.$$

In view of (2.10), (2.11), (2.12) and (2.4) we therefore obtain that

$\lim_{n \rightarrow \infty} |I_n| = 0$ for all $x \in (0,1)$. This together with (2.7) and (2.9) implies that

$$\lim_{n \rightarrow \infty} h_n(s_n(x)) = \frac{\log x}{\log m}, \quad x \in (0,1).$$

Noting that $s_n(x)$ is non-increasing in x , and that $h_n(s) \geq 0$, we see that $\lim_{n \rightarrow \infty} h_n(s_n(x)) = \max(0, (\log x)/\log m) = -\log A(x)$. Next we notice that for $x \rightarrow \infty$ and $t \in (1, \infty)$

$$1 \leq \frac{\Lambda(tx)}{\Lambda(x)} = \exp \int_{\log x}^{\log tx} G(y) dy \leq \exp \int_{\log x}^{\log tx} \frac{dy}{y} = \frac{\log tx}{\log x} \rightarrow 1,$$

that is Λ is slowly varying at ∞ . Then we can use Lemma 1 of [3] and the fact that $X_n \xrightarrow{P} \infty$ to obtain the required result. \square

LEMMA 2.3. *Suppose that the conditions of Lemma 2.2. are satisfied except for (2.4) and that*

$$(2.13) \quad \lim_{x \rightarrow \infty} xG(x) = \beta \in (0, \infty).$$

Then $(\zeta \log X_n)/n$ converges weakly to a random variable with distribution function $C(x) = (1+\delta/x)^{-\zeta\beta}$, with $\zeta = -1/\log m$, and $\delta = (\log m)/(\log b)$.

PROOF. Just as in the proof of Lemma 2.1 it follows that

$$(2.14) \quad \exp(-h_n^*(s_n)) \sim \exp\{-1/\log m \int_{-\log s_n}^{-\log h_n^*(s_n)} G(x) dx\}$$

for any sequence $s_n \downarrow 0$. Choosing $s_n(x) = b^{xn}$, $x \in (0, \infty)$, $n = 1, 2, 3, \dots$, we obtain by (2.13) that

$$(2.15) \quad \int_{-\log s_n(x)}^{-\log h_n^*(s_n(x))} G(y) dy \sim \beta \int_{-\log s_n(x)}^{-\log h_n^*(s_n(x))} \frac{dy}{y} \\ = \beta \log \frac{-\log h_n^*(s_n(x))}{-\log s_n(x)}.$$

As in the proof of Lemma 2.1

$$-\log h_n^*(s_n(x)) = -\log B(b^n B^{-1}(s_n(x))) \sim -\delta \log(b^n B^{-1}(s_n(x))),$$

and

$$-\log B^{-1}(s_n(x)) \sim -(1/\delta) \log s_n(x) = -\frac{nx \log b}{\delta}.$$

Therefore

$$\lim_{n \rightarrow \infty} \frac{-\log h_n^*(s_n(x))}{-\log s_n(x)} = \lim_{n \rightarrow \infty} \frac{-n\delta \log b - nx \log b}{-nx \log b} = 1 + \frac{\delta}{x}.$$

Combining this with (2.14) and (2.15) it follows that

$$\lim_{n \rightarrow \infty} h_n(b^{nx}) = \zeta \beta \log(1 + \delta/x).$$

We can now use Lemma 9.2.1 in [5], yielding that $(\zeta \log x_n)/n$ converges weakly to a random variable with distribution function $(1 + \delta/x)^{-\zeta \beta}$, $x \in (0, \infty)$.

□

We shall now apply the two preceding lemmas to obtain results in the case which does not occur in Galton-Watson processes, that is we suppose that $P(Z_1=0) > 0$, where $\{Z_n; n = 0, 1, 2, \dots\}$ is the process without immigration. As is well-known ([5],[11]) we have to distinguish between the cases where $a = \inf\{x; P(Z_1 \leq x \mid Z_0 = 1) > 0\} > 0$ and $a = 0$. In the first case the starting point is equation (2.1) in [11]. There it is proved that there exists a sequence c_n such that $c_n Z_n \xrightarrow{\text{a.s.}}$ some limit Z , with c.g.f. ϕ satisfying

$$(2.16) \quad \phi(as) = h^*(\phi(s)).$$

This relation is of the form (2.3), with $B = \phi$ and $b = a$. So we get

THEOREM 2.4. *Suppose that $a > 0$. If $\phi(s)$ is regularly varying for $s \downarrow 0$, then*

- if $\lim_{x \rightarrow \infty} xG(x) = 0$, then $\Lambda(X_n)/\Lambda(a^{-n})$ converges weakly to a random variable with distribution function $A(x)$, with Λ and A as in Lemma 2.2;*
- if $\lim_{x \rightarrow \infty} xG(x) = \beta \in (0, \infty)$, then $(-\log X_n)/(n \log m)$ converges weakly to a random variable with distribution function $(1 + (\log m)/(x \log a))^{\beta/\log m}$.*

PROOF. Since ϕ is a c.g.f. it satisfies the conditions of the Lemmas 2.2 and 2.3. The result now follows from these Lemmas. □

If $a = 0$, we can show just as in Theorem 9.2.12 and the construction preceding it in [5], that there exists a positive, increasing,

differentiable function L such that $m^{-n}L(1/Z_n) \xrightarrow{\text{a.s.}} \text{some limit } U$, and that

$$(2.17) \quad h^*(s) = L^{-1}(mL(s)).$$

This leads to the following result.

THEOREM 2.5. *Suppose that $a = 0$, and that the function L is convex or concave;*

- a) *if $\lim_{x \rightarrow \infty} xG(x) = 0$, then $\Lambda(X_n)/\Lambda(m^{-n})$ converges weakly to a random variable with distribution function $A(x)$, with Λ and A as in Lemma 2.2;*
 b) *if $\lim_{x \rightarrow \infty} xG(x) = \beta \in (0, \infty)$ then $(-\log X_n)/(n \log m)$ converges weakly to a random variable with distribution function $(1+1/x)^{\beta/\log m}$.*

PROOF. In view of the Lemmas 2.2 and 2.3 we only have to prove that $L(s)$ is regularly varying for $s \downarrow 0$. Suppose for instance that L is concave. Since $L(0) = 0$, we then get

$$\frac{L^{-1}(ms)}{ms} \leq \frac{L^{-1}(ts)}{ts} \leq \frac{L^{-1}(s)}{s}$$

for any $t \in (m, 1)$. Furthermore, by (2.17)

$$\frac{L^{-1}(ms)}{ms} / \frac{L^{-1}(s)}{s} \sim \frac{L^{-1}(mL(s))}{mL(s)} / \frac{s}{L(s)} = \frac{h^*(s)}{ms} \longrightarrow 1 \quad \text{as } s \downarrow 0$$

and so for any $t \in (m, 1)$

$$\lim_{s \downarrow 0} \frac{L^{-1}(ts)}{L^{-1}(s)} = t \lim_{s \downarrow 0} \frac{L^{-1}(ts)}{ts} / \frac{L^{-1}(s)}{s} = t,$$

implying that L^{-1} and therefore also L , is regularly varying with exponent 1. \square

3. THE CRITICAL CASE

In this section we shall pay some attention to critical processes, that is we suppose that $m = 1$. If we want to use a similar method as before, it is not immediately clear which functional equation of the form (2.3) we

have to take. We can however proceed in a similar way as in [8]. The starting point there is a functional equation holding for the generating function of the invariant measure of the process without immigration. Making a special assumption on the behaviour of the probability generating function of Z_1 , several results for critical processes are deduced. Since the convenient tool in the study of branching processes with continuous state space is a c.g.f., the assumption we make can be stated as follows:

$$(3.1) \quad h^*(s) = s - s^{1+\alpha} L(s)$$

with $\alpha \in (0,1]$ and $L(s)$ slowly varying for $s \downarrow 0$. Furthermore we can construct a function V which satisfies a functional equation corresponding to the above mentioned equation used in [8]. To this end we define a function V on $(0,1)$ such that

$$(3.2) \quad V(1) = 0;$$

$$(3.3) \quad V \text{ is decreasing, and continuously differentiable on } (h^*(1), 1];$$

$$(3.4) \quad v'(h^*(1)) = v'(1)/(h^*)'(1).$$

Finally we define

$$(3.5) \quad V(h_n^*(s)) = V(s) + n, \quad s \in (h^*(1), 1], \quad n = 1, 2, 3, \dots$$

The function V defined in this way is continuously differentiable on $(0,1)$. Analogously to a result in [12] we can prove from (3.1) that $V(s)$ is regularly varying with exponent $-\alpha$ for $s \downarrow 0$. Now we can proceed as in section 2, that is we define

$$h_t^*(s) = V^{-1}(V(s)+t), \quad s \in (0,1], \quad t \in [0, \infty),$$

and analogous to (2.7) we get that for every sequence $s_n \downarrow 0$

$$\begin{aligned}
 (3.6) \quad \exp\{-h_n(s_n)\} &\sim \exp\left\{-\int_0^n f(V^{-1}(V(s_n)+t))dt\right\} \\
 &= \exp\left\{-\int_{V(s_n)}^{n+V(s_n)} G(x)dx\right\} \quad n \rightarrow \infty,
 \end{aligned}$$

where $G(x) = f(V^{-1}(x))$. This enables us to prove the results corresponding to the Theorems 9-12 in [8]. We shall give one example of this.

THEOREM 3.1. Suppose that $\int_0^\infty G(x)dx = \infty$, and that $\lim_{x \rightarrow \infty} xG(x) = 0$. If V has a monotone derivative, then $\Lambda(X_n)/\Lambda(a_n)$ has a limiting uniform distribution on $[0,1]$; here

$$\Lambda(x) = \begin{cases} \exp \int_0^{V(1/x)} G(y)dy & \text{if } x \geq 1 \\ x & \text{if } 0 \leq x \leq 1 \end{cases}$$

and $a_n = 1/V^{-1}(n)$.

PROOF. Choosing $s_n(x) = 1/\Lambda^{-1}(x\Lambda(a_n))$ for $x \in (0, \infty)$, it follows from (3.6) that

$$\begin{aligned}
 \exp\{-h_n(s_n(x))\} &\sim \exp\left\{-\int_{V(s_n(x))}^{n+V(s_n(x))} G(y)dy\right\} \\
 &= \exp\{\log \Lambda(1/s_n(x)) - \log \Lambda(1/h_n^*(s_n(x)))\} \\
 &= x \exp\left\{-\int_n^{n+V(s_n(x))} G(y)dy\right\}.
 \end{aligned}$$

Now for $x \in (0,1]$

$$\begin{aligned}
 0 &\leq \int_n^{n+V(s_n(x))} G(y)dy \leq V(s_n(x))G(n) \leq V(s_n(1)) \cdot G(n) \\
 &= V(1/a_n)G(n) = nG(n) \rightarrow 0 \quad \text{as } n \rightarrow \infty
 \end{aligned}$$

by assumption. Therefore

$$\lim_{n \rightarrow \infty} h_n(s_n(x)) = \begin{cases} -\log x & \text{if } x \in (0,1] \\ 0 & \text{if } x \in [1,\infty) \end{cases}.$$

Furthermore,

$$\lim_{x \rightarrow \infty} \frac{x\Lambda'(x)}{\Lambda(x)} = - \lim_{x \rightarrow \infty} \frac{xG(V(1/x))V'(1/x)}{x^2} = - \lim_{s \downarrow 0} s G(V(s)) \cdot V'(s).$$

Since $V(s)$ is regularly varying with exponent $-\alpha$, and V has a monotone derivative it follows from Theorem 2.4 in [9] that $sV'(s) \sim -\alpha V(s)$, $s \downarrow 0$.

This means that

$$\lim_{x \rightarrow \infty} \frac{x\Lambda'(x)}{\Lambda(x)} = \lim_{s \downarrow 0} \alpha G(V(s)) \cdot V(s) = 0,$$

implying that $\Lambda(x)$ is slowly varying for $x \rightarrow \infty$. Application of Lemma 1 in [3] now yields the required result. \square

REFERENCES

- [1] Pakes, A.G., Barbour, A.D.: Limit theorems for the simple branching process allowing immigration, II. The case of infinite offspring mean, *Adv.Appl.Prob.* 11, 63-72 (1979).
- [2] Heathcote, C.R.: Corrections and comments on the paper 'A branching process allowing immigration': *J.R. Statist.Soc.B* 28, 213-217 (1966).
- [3] Hudson, I.L., Seneta, E.: A note on simple branching processes with infinite mean. *J.Appl.Prob.* 14, 836-842 (1977).
- [4] Jagers, P.: *Branching processes with biological applications*, Wiley New York: 1975.
- [5] Kallenberg, P.J.M.: *Branching processes with continuous state space*, Math. Centre Tracts 117, Math. Centre, Amsterdam: 1979.
- [6] Pakes, A.G.: Some new limit theorems for the critical branching process allowing immigration. *Stoch.Proc.Appl.* 3, 175-185 (1975).
- [7] Pakes, A.G.: Some limit theorems for a supercritical branching process allowing immigration, *J.Appl.Prob.* 13, 17-26 (1976).

- [8] Pakes, A.G.: Limit theorems for the simple branching process allowing immigration, I. The case of finite offspring mean, *Adv. Appl. Prob.* 11, 31-62 (1979).
- [9] Seneta, E.: Regularly varying functions. *Lecture Notes in Mathematics* 508, Springer Verlag, Berlin: 1976.
- [10] Seneta, E., Vere-Jones, D.: On the asymptotic behaviour of subcritical branching processes with continuous state-space, *Z. Wahrscheinlichkeitsth.* 10, 212-225 (1968).
- [11] Seneta, E., Vere-Jones, D.: On a problem of M. Jirina concerning continuous state branching processes, *Czechoslovak Mathematical Journal* 19(94), 277-283 (1969).
- [12] Slack, R.S.: A branching process with mean one and possibly infinite variance, *Z. Wahrscheinlichkeitsth.* 9, 139-145 (1968).

